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COST-BENEFIT ANALYSIS 

Marginal Cost = Marginal Benefit Rule 

Spillover Costs 
Overallocation 

Spillover Benefits 
Underallocation 

Externalities 

http://highered.mcgraw-hill.com/sites/0072819359/student_view0/chapter30/interactive_graphs.html
http://highered.mcgraw-hill.com/sites/0072819359/student_view0/chapter30/origin_of_the_idea.html
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SOCIETY’S OPTIMAL AMOUNT 
OF EXTERNALITY REDUCTION 

MC = MB Rule 

MC, MB Equilibrium  

Optimal Reduction of an 

Externality 

Shifts in the Curves 


